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ZpoY) 5%q AM BLs Zpol) plige 5% AM 1,800~1,600 =y 2,000~1,800 #
<k 4%, ALM 2,000~1,800 1%4 350~300 H# <k =/ 4%, ALM 3,000~2,500 RER 3,000~2,500 #
Sal| v S 20077 AM 180~160 NF3% H# il Segd S EEA [N73%| AM 2,800~2,500 =450 250~230 H
E—<> 1507 AM 60~40 N74% | 1,600~1,200 A F—<y ik | 15027 | AM 90~80 NF74%|  2,000~1,800 A
TRy 10% AL 1,300~1,000 H TRy =450 10%g AL 1,600~1,400 FE 1,300~1,200 #
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£LULV=F | 10077 AM 100 nN52kg | 2,000~1,800 # HLWL=+| #@ | 10027 | AM 120~100 #

O=FEF.Of=POLET. #=1EHL). AF=PORT. A=RFIT




